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Yellow Answers
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wibale iz therefore werth 58 minutes.
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1) Each complete sbsle represents &0 mins, Therefore each 16 portion of the whole [ werth 0 ming %ﬂf-ﬂ
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This diagrams s Fﬂmm:tuu:hmp.hruﬁdempmﬂmﬂmﬁm% of & swhole il represert 65 mins.




1) Area model B is correct as the model shows that when we Hnd-} of % we need to firstly split the model into
fifths then split our model in half, shading in three of the new sections we have made. The area model will 2yt
now show ; overall shaded in. .

The fraction shown by model A is ,’;, or %
2) The’correct picture Is Olivia’s as it shows 1'; of } The caleulation we would use to show how much pizza Imran ate would
begxy=y

Red Answers

1) Answer: She is buying potatoes for 6 classes: @
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b) Multiple answers are possible
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317=47 x2 2=227




1) Answers: 5 x3=15and x5 =15
&nsuersr—f;x% = %arﬁ.and%x—i-s—fror}’?
4

Answers will vary, e.g. % r-'; = fl;; % "ii’ s-ﬁ-m’}%
2) Answers will vary. Examples may include:
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